
 

 
www.qimarox.com 

Prorunner mk5 XL Vertical Conveyor 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Content : 2 x 1000862 - Mounting Mezzanine Prmk5  

  4 x 1000194 - Hex head bolt M10 x25  

  4 x 1000147 - Plain washer M10 

  4 x 1000172 - Spring lock washer M10 

  4 x 1000125 - Hex nut M10 

 

M10 x 25 

M10 Washers 


